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1) Bytecade/Disassembly | 1) MainActiviy/Source 51 |

public class MainActivity extends ActionBarActivity {
@0verride // android.support.v7.app.ActionBarActivity
protected void onCreate(Bundle arg8) {
super.onCreate(arg8);
this.setContentView(0x7FB30018); // layout:activity_main
((Button)this.findViewById(0x7F05003D)).setOnClickListener(new View.OnClickListener() { // id:widget3
@0verride // android.view.View$OnClickListener
public void onClick(View argl3) {
char[] x = new char[17];
char[] y = new char[38];
int i;
for(i = 0; i < 17; +i) {
if(new char[]{'T', 'h', 'i', 's ‘', 's', 'T', 'h', ‘'e', 'F', 'l', 'a', 'g'
Er

. WY, o,
x[i]l = (char)(new char[]{'T', 'h*, 'i', 's', 'I', 's', 'T', 'h', ‘e’

, 'e'}[i] < 73 && new char[]{'T', 'h',
R T, e 0

else if(new char[]{'T', 'h', 'i', 's', a', o', 'm', 'e'}[i] >= &5 && new char[]{'T"'
x[i] = (char)(new char[1{'T', 'h', 'i', 's*, 'I', 's', 'T', 'h', 'e'., 'F', *L'. 'a', 'g', 'H', 'o', 'm', 'e'}[i] - 8);

else {
x[i] = new char[1{'T', 'h*, 'i', 's', 'I', 's', 'T', 'h', 'e', 'F', 'L', 'a', 'g', 'H', 'o', 'm', 'e'}[il;
}

}

if(String.value0f(x).equals(((EditText)this.findViewById(0x7FP5003E)).getText().toString())) { // id:widget2
int vO_1;
for(vB_1 = B; vO_1 < 38; +vB_1) {
if(new char[1{'p', ‘v', 'K', 'q*, '{', 'm*, '1', "', '4*, &', '7', 'S', '2', ‘&', '2', '®', '3, '3', ‘L', '4', 'm', ‘4", '9
y[ve_1] = (char)(new char[]{'p', 'v', 'k', 'q', '{*, 'm', '1', '6', ‘&', ‘'é', '7', '5', ‘'2', ‘&', '2', '®', '3', '3', 'L',
if(y[ve_1] > 90 && y[vO_1] < 97 || y[vO_1] >= 0x7A) {
y[ve_1] = (char)(y[v0_1] - 26);

else {
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public static void main(String[] args) {
char[] y = new char[38];
int v@_1;
for (v0_1 = 0; vB_1 < 38; +vB@_1) {
if (new char[1{'p', 'v', 'k', 'g', '{', 'm', '1', '6', '4', '6', '7', '5', '2', '6', '2', '®', '3', '3', ', ‘4,
y[v@_1] = (char) (new char[]{'p', 'v', 'k', 'q', '{', 'm*, "1', '&', ‘4", '6', '"7', '5', '2', ‘&', '2', '0', "
if (y[v@_1] > 90 8&& y[v@_1] < 97 || y[ve_11 = @x7A) {
y[v8_1] = (char) (y[ve_1] - 26);

}
} else {
y[V@ 1] = HEW Char‘[]{‘p" IVI' 'k‘, 'q', |{l’ |ml' lll' '6‘, 141' ‘6', l?l' 15|' 12|' |6l' |2!, lml' 13|' '3',

+
System.out.println(y);

"C:\Program Files\Java\jdk1l.8.@_121\bin\java.exe" ...
flag{cl64675262033b4c49hdf7f9cda28a75}

Process finished with exit code ©
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